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Tips for Canopy

Save the file (CUrS) gin the file (Ctrl-R) Change working directory

@ Editor <

Eile ; Search Bun Tools Help
/a H at B b o T . r

wuntited TET | Prython CTsersilosy X
1 print 'hello world' Welcome to Canopy's interactive data-analysis environment! -
2 with pylab-backend set to: gt

Type '?' for more information.

m

In [1]: %run "c:‘usershjoey\appdata‘llocal\temp\tmpdwtogs.py"
helleo world

In [2]: Search | Run | Jools Window Help
@ Editor - Canopy Console can be restarted = .. | Rungie Ctrl+R =]
Eile Edit \iew Search s T . ; Run Selection Ctrl+Shift+R ‘
L uy, e ] L —
‘EHEl e i P L ello w Interrupt Kernel ba |
estoy © Pm? | Restart Kernel... Ctrl+. " F .
1 print 'hello world’ with pylab—backenq set tDE gt I - ) -
9 Type '?' for more information. In [1]: %run 5

m

In [1]: %run "c:\users\joey\appdata‘llocal\temp\tmpdwtogs.py"
hello world

In [2]: &% F:/t Jtest. _ .
1o o T/ EMPITESERY | Eyecute an existing Python script

file (usually ends w/ . py)

T T .



Tips for the Canopy console (iPython)

In [2]: pwd
Out[2]: u'C:\\Usersi\Joey"

In [3]: «d .. Fjle system Operation

C:\Users

In [4]: cd .. I [9]: range? Looking for documents

C:\ Type: builtin_function_or_method
String Form:<built-in function range>

In [5]: 1s Mamespace: Python builtin

HEERER C rPEVRERE 2 H TR o Docstring:

IHIEEEgs:  3801-115E range([start,] stop[, step]) -» list of integers

C:\ BYE#: Return a list containing an arithmetic progression of integers.
range(i, j) returns [1, 1+1, 1+2, ..., 3-1]; start (!) defaults to ©.

2013/06/18 RF 10:57 <DIR> When step is given, it specifies the increment (or decr?menF}. .

2013/03/09 TZ- 04:02 <DIR> For example, range(4) returns [0, 1, 2, 3]. The end point is omitted!

' These are exactly the valid indices for a list of 4 elements.
2009/07/14 E5 11:20 <DIR>

2013/04/17 T ©5:05 <DIR> Perl
2013/86/27 L& 10:14 <DIR> Program Files Open the ﬂ|e in EditOI’
2013/87/14 T4 ©8:49 <DIR> Program Files (x86)
2013/05/02 T4 04:12 <DIR> Python27
2013/83/08 - 12:12  <DIR> Users In [13]: edit test.py
2013/06/21 R4 10:33 <DIR> Windows In [14]: ed test.py

o {EfE2 0 firmeH

9 {#E# 71,477,835,008 {YTiHAH In [15]: ?

In [E]:l



Tips for runtime debugging

@ Editor - Canopy EI@

File Edit Miew Search FBRun Tools MWindow Help
?H H bk B & Fa T r ‘Lﬁ. I}’ 4["

test por [ Prrthon CMTserdhloey

la=1 Welcome to Canopy's interactive data-analysis environment! -
2b =2 with pylab-backend set to: gt

3c=a+hb Type '?' for more information.

4

In [1]: %run F:/temp/test.py

m

In [2]: a

Out[2]: 1

In [3]: b

Qut[3]: 2 5
In [4]: c

Out[4]: 3

In [5]:

Cursor pos 4:1 [Pvthon - Fitempitest.py




ips for Rosalind



Working with Files 8

Make sure you know the file path of the o
download dataset Answer submission oo:42

Copy the
downloaded
dataset to your
working directory

Download current dataset again Copy your answer here:

Answer submissio Copy & paste your answer here

Or upload your answer txt file

i Copy your answer here:
Or Shpecr:fy the ]CUH Or just attach/ file with the answer:
pat wnen yOU BEEND sfmpn
open the JEEnEasER

Your code (mandatory):
R
Don’t forget your code

e with the answer: m
rosalind_ini5 b T

downloaded file

i

EERTTEE)

[==]




Looking for help?

x | il bp_2013start x | (3 ROSALIND |E/ x ! 3 ROSALIND | & ;/" 3 ROSAUND |k x {3 ROSALIND |G x

EEED

Google

EEED

B Google x | [l bp_2013:start x ( 3 ROSALIND [E/ x ! () ROSALIND|B x { {J ROSALIND|R % / () ROSALIND |C x

€ | [3 rosalind.info/problems/fib/?class=68 Q@ W & a & % f ¢ 6 =

(& sBLwiki M Gmail [ Facebook [ News (] English [ Llab [JNTU [ Tool (1 Ref (1 Project [ To-Read [ Swim [Y Wik Link

»

Arecurrence relation is a way of defining the terms of a sequence with respect to the values of previous terms. In the il
case of Fibonacci's rabbits from the introduction, any given month will contain the rabbits that were alive the previous
month, plus any new offspring. A key observation is that the number of offspring in any month is equal to the number of
rabbits that were alive two months prior. As a result, it Fiy represents the number of rabbit pairs alive after the r2-th
month, then we obtain the Fibonacci sequence having terms F, that are defined by the recurrence relation

Fn = Fn_l -+ Fn_z (with F1 = Fz = 1 to inifiate the sequence). Although the sequence bears Fibonacci's
name, it was known to Indian mathematicians over two millennia ago.

When finding the m-th term of a sequence defined by a recurrence relation, we can simply use the recurrence relafion to
generate terms for progressively larger values of 2. This prablem introduces us to the computational technigue of
dynamic programming, which successively builds up solutions by using the answers to smaller cases.

Given: Positive integers 2 < 40 andk < 5.

Return: The total number of rabbit pairs that will be present after 72 months if each pair of reproduction-age rabbits
produces a litter of k rabbit pairs in each generation (instead of only 1 pair).

Sample Dataset

Feedback

Sample Output

19

.

ou'll have 5 minutes

...... Post your question here

B G Ts e\ = 1= 4l You may make an unlimited number of attempts without being penalized.

Questions

Found a typo? Suggest a new problem Take a tour

1] resalind S s M

&« € | [3 rosalind.info/classes/problems/1160/questions/ Q@ W @ a L4 % f ¢ O
(& sBlwiki M Gmail [J Facebook [J News [ English £ Lab (3 NTU [J Tool 3 Ref [ Project [J To-Read [ Swim [ Wiki Link

R{2)SALIND ’

Questions Voes
Problem 10 @ Bioinformatics Programming 2013 =~

Do not publish any answers or solutions in the questions forum. All inappropriate comments will be deleted without
notice.

Newest

I

Please do the following before posting a question here:
(1) Make sure that you are using the latest downloaded dataset each time you submit an answer.
(2) If your solution works on the sample dataset, but fails on a real one, create some more samples to testit.
(3) If you are sure that your solution is correct, carefully read the statement again.

Bro.Gunpow
0 +H 17,2013, 402 pm
# W reply

Sample Output =197 If F1=3 -= F2=3 -> F3=6 -> F4=9 -» F5=15 BF BaEiEsE (7

Feedback

hchuang
0 45 17,2013, 5:03 pm
# M edit delete reply

IERECLEEE - TIBRTRER 197888 - AIET R TRE 1 @RI - FREEEY
Figure 1 aTLIZHF—T ¢

hchuang
0 +£H 17,2013 503 pm
# M edit delete reply

IEREELEEE 0 TTIEMRRE 19 1245 - BISTATRE 1 EHEVHERE - FIRERHEY Figure 1

e You are welcome to
discuss online
But DON'T leak the

solution !

8 ETHETH.  x

Comment:

B I/ @ ¢ i = i=

1] resalind S s M
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Example solutions will o | ning
be provided after the

by Hsuan-Cheng Huang at National Yang-Ming University

deadline o B M :iEZ A, ERI012 T 24

o B R0
o FERARE | ALYEBETHAT
o FEREE : HEWTF)

\/\/ i | | | i t h + 2P : TEA R, Python B Perl 5383 R £ et B

e Wl a S O re\/| evv e o REER | ERTHEAR A RESEMERANE - EREFERER AN REYENHE MRS EEE
o BhEREH : (Python) 3R ntu joey@gmail.com (Perl) FrEEER auymle@gmail.com

o E{RIEEE @ hitpo/fu.csie org/BioProg2013

problems in the next s e
The first class is scheduled for Tuesday July 16th
C | a SS Num  Title Solved By Costff Due Date Questions Solutions

1 Installing Python 23 1 +H 18, 2013 ® 17, 28 ® 16 ]\, 30 S

Variables and 24 +H 18, 2013 - - 16
Some Arithmetic

| n g e n e ra |, We Wl | | 3 Strings and Lists 24 1 +H 18, 2013 ®1F 1 o 15 8F, 50 S

m

Feedback

assign more problems Z e I .
in Thursday ; [ e : !

t's fine to miss a class, g NI [T :
but you should catch . N e
up our progress before : | \\ g : J) _
next class




